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A =2X4=8cm2
Q. =AY =(8)(3)=24cm> X,y o glaw Jg) S
Qy =AX =(8)(4)=32cm> Y e s o gl pgluss
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()fl =25cm ()fz = 25cm

Y, =50cm

.

Y, =22.5cm

.

A, = (10)(50) = 500cm > A, =(8)(45)=360cm’




Q. =AY +4AY, =
_ =(500)(50) + (360)(22.5) = 25000 + 8100 = 33100cm*

) =A1X_1 +A2X_2 —
, =(500)(25)+(360)(25) = 12500 + 9000 = 21500cm°
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AX +4,X, (500)(25)+(360)(25) o

A, +4, 500+ 360

X =

o AY, +A4Y,  (500)(50)+(360)(22.5)
A +4, 500+ 360

= 38.49cm
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Y, =9.5cm
A, =(8)(9)=72cm’

{flz&’m




8cm

X, =l4cm
Y, =8m

A4, :m:27cm2
2




0, =AY, +4Y, =
0. =(72)(9.5)+(27)(8) = 900cm*

Qy =A1i1 +A2i2 =
0, =(72)(8)+(27)(14) =954cm”

954

= = 9.6cm
T2+ 27

900

= =9.09cm
T2+ 27
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X, =4cm
Y, =2cm
L= (4)(8)=32cm’




=—(3)(1)* = -3cm’




